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Short answer questions (SAQ)

5yt Ol ¥ Ol Aliwd

1- Questions have a single focus (ILOs)

2- Wording is clear and unambiguous.

3- Questions use action verbs such as 'List' or 'Name',
Enumerate.

4- you can use what if your are asking about the diagnosis
only (in case you use vignette)

(e g What is your diagnosis ......... )

5- Words such as 'Discuss', 'Describe’, 'Summarize' and
'Outline' are avoided.

6- Questions specify the number of elements required.
(e.g. list THREE...)

7- It is better that Visual guidelines are provided to indicate
how long an answer is expected(if possible).
(e.g. list THREE......... )
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- Questions are not dependent on answers to other or previous
questions.

« The number of marks for each question required

- Questions are at an appropriate level of difficulty (vignette
might be used)

Model Answers

Included All numbers of possible answers

Ea. Q. Enumerate 3 investigations in childhood
hypothyroidism (3 marks)

Ans:

Serum T3 ,T4 , TSH

X-ray of the left wrist joint
Sonar on the thyroid gland
Serum cholesterol , total lipid
Radio isotope

a ~ w N e
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Modified ESSAY QUESTIONS (MEQ)

. Start with your own learning outcomes

« Use action verbs (task) carefully and selectively (and make
sure the verb interacts with the object ofthe verb) according
to BLOOMSs Taxonomy.

Verbs like describe or explain might be useful. If you are
hoping for students to provide their owninterpretations with
supportive evidence, verbs like analyze.

«Limiting_word _(Items): clinical pictures, investigations,
management .....etc.)

Providing clear boundaries and limitations (in the question)
will help students focus their answer. They will be able to
formulate a clear response to your question if your question is
clearly stated.

- Content_word: anemia, hepatic failure, cyanosis, fractures
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« Marks after each item Eg.

Define neonatal hypoglycemia (2 marks), describe the
clinical manifestations ( 4marks) and formulate aplan of
management (4marks) . (total 10 marks)

«Verbs (task): Define, describe and formulate a plan of
management.

o Limiting word (ltems): definition, clinical pictures, clinical
manifestations, management.

. Content word: neonatal hypoglycemia.

Y.



Extended Matching Questions (EMQ)

EMQ is a relatively new format of objective testing
which is somewhat similar to the MCQ, except that it is based
on a single theme and has a long option list to avoid cueing. It
is also known as Extended Matching Items (EMI). It can be
used to assess low or high levels of cognition according to the
clinical scenarios included.

Structure of EMQ:

= An option list (consists of 6 to 20 lettered options,
usually 8).

= A lead-in statement or question.

= Three to five numbered stems (clinical scenarios or
problems).

For each stem or clinical scenario, the candidate should
choose the most appropriate option from the option list (an
option can be correct for more than one clinical scenario and
another option can be incorrect for all scenarios). The lead-in
statement or question should include “You can use the lettered

option once, more than once, or not at all”

Y\



Theme

Option list
(6-20, usually 8)

Lead-in statement

3 to 5 stems or

clinical scenarios

Example of EMQ

Cardiovascular symptoms and signs

. Radio femoral delay
. Pan-systolic murmur
. Systolic blood pressure of 220 mmHg
. Tappingapexbeat
Chest pain eased by glycerol triturate in 5 minutes
Third heart sound
. Splinter hemorrhages
. Breathlessness eased by lying flat
Slow-rising carotid pulse
Bradycardia with pulse rate 20 per minute
. Chest pain eased by glycerol triturate after an hour

ARErIOMMOO®>

The patients described below have come to see you. Which of the above
clinical features (Options) are they most likely to demonstrate?

You can use the lettered option once, more than once or not at all

Scenario 1

A 65 years’ old man is admitted after a collapse when running for the bus.
On examination, he has a sustained heaving apex beat that is slightly
displaced and an ejection systolic murmur.

Scenario 2
An 80 years’ old woman is admitted with an excruciating pain between the
shoulder-blades. You can palpate the right radial pulse but not the left.

Scenario 3

A 70 years’ old man had a myocardial infarction two years ago. He is now
admitted with gradually increasing breathlessness worse on lying flat with
crepitation'sin the lung bases.

Scenario 4

A 65 years’ old woman has been increasingly breathless over the last few
years. On auscultation, she has a loud first heart sound and a mid-diastolic
murmur.

Scenario 5

The patientisa 60 years’ old man who smokes 20 per day. He comes to
clinic complaining of a tight pain in the center of his chest which comes on
when he walks uphill.

Yy




Model answer

Scenario 1: |

Scenario 2: C
Scenario 3: F

Scenario 4: D
Scenario 5: E

Yy



Single Best Answer
1- Constructing an Effective Stem

1. The stem should be meaningful by itself and should
present a definite problem. A stem that presents a
definite problem allows a focus on the learning outcome.
A stem that does not present a clear problem, however,
may test students’ ability to draw inferences from vague
descriptions rather serving as a more direct test of
students’ achievement of the learning outcome.

2. The stem should not contain irrelevant material,
which can decrease the reliability and the validity of the
test scores (Haldyna and Downing 1989).

3. The stem should be negatively stated only when
significant learning outcomes require it. Students
often have difficulty understanding items with negative
phrasing (Rodriguez 1997). If a significant learning
outcome requires negative phrasing, such as
identification of dangerous laboratory or clinical
practices, the negative element should be emphasized
with italics or capitalization.

4. The stem should be a question or a partial sentence.
A question stem is preferable because it allows the
student to focus on answering the question rather than
holding the partial sentence in working memory and
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sequentially completing it with each alternative (Statman
1988). The cognitive load is increased when the stem is
constructed with an initial or interior blank, so this
construction should be avoid.

2-Constructive Effective Alternatives

1. All alternatives should be plausible. The function of
the incorrect alternatives is to serve as distractors, which
should be selected by students who did not achieve the
learning outcome but ignored by students who did
achieve the learning outcome. Alternatives that are
implausible don’t serve as functional distractors and
thus should not be used. Common student errors provide
the best source of distractors.

2. Alternatives should be stated clearly and concisely.
Items that are excessively wordy assess students’
reading ability rather than their attainment of the
learning objective.

3. Alternatives should be mutually exclusive.
Alternatives with overlapping content may be
considered “trick” items by test-takers, excessive use of
which can erode trust and respect for the testing process.

4. Alternatives should be homogenous in content.
Alternatives that are heterogeneous in content can
provide cues to student about the correct answer.

Yo



5. Alternatives should be free from clues about which
response is correct. Sophisticated test-takers are alert
to inadvertent clues to the correct answer, such
differences in grammar, length, formatting, and
language choice in the alternatives. It’s therefore
Important that alternatives.

» have grammar consistent with the stem.

« are parallel in form.

. are similar in length.

. use similar language (e.g., all unlike textbook
language or all like textbook language).

6. The alternatives “all of the above” and “none of the
above” should not be used. When “all of the above” is
used as an answer, test-takers who can identify more
than one alternative as correct can select the correct
answer even if unsure about other alternative(s). When
“none of the above” is used as an alternative, test-takers
who can eliminate a single option can thereby eliminate
a second option. In either case, students can use partial
knowledge to arrive at a correct answer.

7. The alternatives should be presented in a logical
order (e.g., alphabetical or numerical) to avoid a bias
toward certain positions.

8. The number of alternatives can vary among items as
long as all alternatives are plausible. Plausible
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alternatives serve as functional distractors, which are
those chosen by students that have not achieved the
objective but ignored by students that have achieved the
objective. There is little difference in difficulty,
discrimination, and test score reliability among items
containing two, three, and four distractors.

3- Additional guidelines

1. Avoid complex multiple choice items, in which some
or all of the alternatives consist of different
combinations of options. As with “all of the above”
answers, a sophisticated test-taker can use partial
knowledge to achieve a correct answer.

2. Keep the specific content of items independent of one
another. Savvy test-takers can use information in one
question to answer another question, reducing the
validity of the test.
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Considering for Writing Multiple Choice Items
That Test A Higher Order Thinking

When writing multiple choice items to test higher-order
thinking, design questions that focus on higher levels of
cognition as defined by Bloom’s taxonomy. A stem that
presents a problem that requires application of course
principles, analysis of a problem, or evaluation of alternatives
is focused on higher-order thinking and thus tests students’
ability to do such thinking. In constructing multiple choice
items to test higher order thinking, it can also be helpful to
design problems that require multilogical thinking, where
multilogical thinking is defined as “thinking that requires
knowledge of more than one fact to logically and
systematically apply concepts to a ...problem” (Morrison and
Free, 2001, page 20). Finally, designing alternatives that
require a high level of discrimination can also contribute to
multiple choice items that test higher-order thinking.
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How to Write a Vignette
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» Patient Demographic
o Age
o Gender
o Nationality
o Residence
» Presenting symptoms
» History of the presenting symptoms
» Diagnosis
» Treatment
» Investigations
» Complications
» Outcome
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Example
Case Presentation

The case report should be chronological and detail the
history, physical findings, and investigations followed by the
patient's course. At this point, you may wish to include more
details than you might have time to present, prioritizing the
content later.

1. History

I. A 34-year-old female smoker has chronic headaches,
difficult breathing, and burning leg pain.

ii. Clinical diagnosis of mitral valve stenosis is made.

1ii. She returns in one week because of burning pain in
the legs.

iv. One month after presentation, cardiac catheterization
demonstrates severe mitral valve stenosis.

v. Elective mitral valve commisurotomy is scheduled,
but the patient is admitted to hospital early because of
increased burning pain in her feet and a painful right

leg.
2. Physical Examination

I. Normal vital signs.
ii. No skin findings.

iii. Typical findings of mitral stenosis, no evidence of
heart failure.
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iv.

V.

Cool, pulseless right leg.

Normal neurological examination.

3. Investigations

Normal laboratory studies.

ECG shows left atrial enlargement.

lii. Arteriogram of right femoral artery shows subtotal

stenosis, collateral filling of the popliteal artery, and
pseudo aneurysm formation.

4. Hospital Course

Mitral valve commisurotomy is performed, as well as
femoral artery thombectomy, balloon dilation, and a
patch graft repair.

. On the fifth postoperative day, the patient

experienced a return of burning pain in the right leg.
The leg was pale, cool, mottled, and pulseless.

Treatment was initiated with corticosteroids,
anticoagulants, antiplatelet drugs, and oral
vasodilators.

. Additional history revealed that the patient abused

ergotamine preparations for years (headaches). She
used 12 tables daily for the past year and continued to
receive ergotamine in hospital on days 2, 6, and 7.
viii. The remainder of hospitalization was uneventful.
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Portfolio Checklist Assessment

Marks Yes | No | Comments
0.5 | The table of contents clearly categorizes
all of the sections of the portfolio

0.5 | All of the major course outcomes have
been addressed

0.5 DOES THE PORTFOLIO INCLUDE EVIDENCE
OF LEARNING IN REALISTIC SETTING?

0.5 | Sample Lesson Plan(s): may include
photos and student work>

0.5 | Sample Assessment and Evaluation Tools:
Formative (F) or Summative (S)

0.5 | DOES THE PORTFOLIO PROVIDE EVIDENCE
OF VARIOUS TYPES OF STUDENT LEARNING

0.5 | A complete copy of the student’s portfolio
has been made for the student’s own
records

0.5 | DOES THE PORTFOLIO PRESENT ENTRIES IN
A WELL-ORGANIZED AND USEFUL MANNER

0.25 | DOES THE PORTFOLIO INCLUDE STUDENTS’
SELF-EVALUATIONS AND REFLECTIONS ON
WHAT WAS LEARNED?

0.25 | DOES THE PORTFOLIO ENABLE ONE TO
DETERMINE LEARNING PROGRESS AND
CURRENT LEVEL OF LEARNING

0.25 | DOES THE PORTFOLIO PROVIDE CLEAR
EVIDENCE OF LEARNING TO USERS OF THE
PORTFOLIO

0.25 | DOES THE PORTFOLIO PROVIDE FOR
STUDENT PARTICIPATION AND
RESPONSIBILITY

Total | 5 marks
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Osce Blueprint

Module Name--------=======-=---- SEMEStEr == mmmmmmmmmmmmmmmm
AcademicC Year----------mmmmmmmmmmmmmmmmmcm e e
Marks/seSSiON ==---===mmmmmmmmmm e e
No. Static/dynamic stations --------=-=====emmmmmmmmmmmeeeeee
ILOS cOVered ------mmmmmmmmmmmmmmmmmm e e
2 m = >
sz | 2 z| % s £ £
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Exam Blueprint Example

Exam Level of Thinking
- Hours of Wit% Question
S teaching
£ HOT/total | Wt% x total K U A c
© HOT hours ho 9f knowledge | understanding | Application
questions
1 5 5/30 16.6/100x 3 5 2 ---
x100 60
10
16.6%
2 5 5/30x10 10 2 5 3
0
16.6%
3 7 7/30x10 14 5 5 4
0
23%
4 10 10/30x1 20 5 10 5
00
33%
5 3 3/30x10 6 | - 3 3
0
10%
<
g 30 60Q
|_
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Assessment

Time allotted Marks
tools
Mcq A type 1min
Mcq 1.5 min
complex
SAQ 2-5min/Q
Modifies 10-15 min
essay
guestions
MEQ
Problem 10-15 min
solving
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Bloom’s Taxonomy

‘active’ or “passive’

Understanding
) translate
Knowin restate
define discuss
repeat describe
record recognise
list explain
recall EXpIrEss
name identify
relate locate
underline report
TEVIEW

Applying
interpret
apply
ernploy
use
demonstrate
dramatise
practice
illustrate
operate
schedule
sketch

¥

distinguish
analyse
differentiate
appraise
calculate
experitnett
compare
contrast
criticise
inspect
debate
gquestion
solve
EFAMINe
categorise

E Can only beachieved through ‘active’ learnin

Ewaluating
judge
Synthesising appeaize
COnpose evaluate
plan rate
propose compare
design revise
formulate assess
Arrange estimate
assemble
collect
constract
create
set-up
orgarise
manage
prepare




Verbs should be avoided when you construct
the exam:

Discuss
Mention
Give an account on

Write short notes on

Yv
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